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Also the daughters of the Koosim - 2°M1> M2 AN

Overview

The X723 stated that one of the 727 1" (according to 01 1) was that young 2°n1>
girls' are considered Mm71 even while they are still in their cribs.”> mpoIn discusses
the reason for this 77°7.

nooIN asks:
= NOIWNIY WINT 9NN 3299 Y PPN (0w N,a7Y 91 n) B 1N YWIHIT PPN 199299 NN

The >''1 is astounded; for in the beginning of 230> n112 P79 the X1 establishes
the mwn (which states 0o vy M71 2°n> M) like »''9 who is concerned for a
minority” -

= NSPNINTI NNV NNANT ON) )7 HNIN 292 DM MINT INND NIN 7Y NI NXNYL KNI
And this reason (of Xv¥n? w»n that she may see 27) is only applicable
according to the one who maintains that 250> are valid 2°93, so therefore if she

sees, she is n''mm IRMY, therefore it is understood that they made a 7713 for all 2°n12 N2 -
- NRYD SN 7Y KY )1 DN ) DI 9INT INIY Yan

However according to the one who maintains that 25n1> are n1"IX >3, this

reason of Xy 17 v>°r1 is not applicable -
- ¥92512 1DV KY DI 12IYT NNPPNINTN NNNV NN ON I729NT

For even if she saw 27, she is n''nn 7970 for gentiles are not X»w» through 72°7 -
=937 177910 NN 02N M2 NNIPYY Y21957 NN PHYNYAI)

However in our X923 it is evident that all agree that 100 vn XY 23M> M2 is

from the 927 1"y, even according to the one who maintains 37 11X 73 2°n1 -
- 59249 17752 119 5312 9957 17 DN 593 VINT IRNPY IN XVIWINY YN N9T NI

' The o°m> were a nation that 7%Wx 792 27m30 brought to *"x after he exiled the ovaw: nwy. They were attacked by
lions and they subsequently converted to Judaism. There is a dispute whether their N17°3 was valid, or they are >
nX (they converted only because of their fear from the lions), and it was an invalid M7, so they are 0*>1.

2 See M1 "7 >"wn that (we derive from 7wXY [in ©°,00 (YMX1) X7 that) a one day old girl is M7 Xnwn (if she sees
a7), however the 2°n1> do not follow this ruling, therefore the 0’151 decreed that all their daughters are considered n171.
? The xn3 there asked if they saw 07 then even "X Mia are M73, and if they did not see o7, why are they x»v. 27
nww answered that there are a minority of babies which see o7 when they are still young and so therefore we are
concerned by all 0°m> m12 perhaps they saw; this follows the view of n"9 that we are concerned even for a V1¥°n.
[However by x> ni3 if they see 1no™vn o7 their parents will treat them as m73, but not the 2°m> (see footnote # 2.)]

* There is no 771 XMV or 7127 by 0 31. (The 1227 were 13 that all 2”131 are like 0°21.) The o311 would not be 713 on
2°M> N2 that they should be mM715 (because a minority of them see 07 as babies) if the 2°n1> are N1°IX 3, meaning
they are not 278 Ww”, so even if they see o7 they are not X1, so why make a 77°T3 on something which is 0" M.

5> mpoin asks that in order to be N71 913 on M3 mi3, we need to assume that they are Jewish (N »73) for otherwise
they are not N1712 Xnvn, and we also have to XvWwn? wwin for otherwise if we follow the 21, it is highly unlikely
that a baby saw a7.
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But according to the one who is not concerned for a minority (but rather
follows the majority) or according to the one who maintains the 2°n> are °93

naR, how can 2°n> M2 be counted in the 937 1''S, There is no reason why they
should be &nv -

mMooIn has an additional question:
= (0W13,50 97) INYNY? 529 D992 NN 1D NPIN 29)T N SN YD) 9297 TV

And additionally, for >''1 maintains in nwa» noon in ®Xy»ws s21 pas that oono

are N1 M5 -
- 70597953 1239 HY Yy ©IMA YN ‘ooma YY Yy 099199 1218 YU PRNN NY 1IRT

For °"7 maintains one may separate 70 from a s'>931 produce on 2°n2

produce and from 2°n1> produce on %731 produce because both are not Jewish -
- 5934 17793 DM M2 NY2IIN YN XM

But here in our X713 the 2°n12 n12 are considered part of the 927 17''s, according
to>"!

N1B0IN answers:
- 712 19105 RIY N1 PAIY 1998 1911 RIYY 99199 NINN DIMD MIAT 1Y Y

And one can say that the 77°72 of 2°3m> n12 is according to everyone, and the
1127 decreed on the 2°m> N2 that they should be n172, in order that the HX7w° °12
will not intermingle with them —

mMooIn responds to an anticipated difficulty:
- 150 DIYN 3N KT RN NDYDT BIVN 9INmM 9395 PIINN BN *PIT XN

And the reason the X ) there establishes the mwn (of 2°m> Mi2) like »''9, it is
because it is evident from the X239 that the injunction against 2°113 N112 in this 7IwH

is not because of Y1729, nooin shows how in this 73wn the reason is not because of ¥ -
- Moapn 7173 993 1Y 239 PIYYD PINNN 39UN PRHVA OXMAN 1INPT

% This means one can take the produce (wheat) from a 121 and proclaim that this wheat should be 72110 for the wheat
which belongs to a °n13, so 17N will not need to be taken from it again. [The M3 and/or the >121 want to be 7N w90, ]

7 The rule is we cannot be 7170 w97 from produce which is 1902 21 for produce which is Mws from 7=, and
vice versa. However one can be w191 (from 2117 on 2111 and) from 75 on Mwd. Here they are both (the 3"w and
°n1d) considered 71D since 7 N1°IX *73 2°N12, so they are not obligated to separate i72171.

8 See footnote # 4. It is not logical to be 78?1 213 on IN0*MYA 0N M2 even if XYW M? 1w n (which *01 ' agrees
to), since 0°n1d are not N1712 XnuM at all n"7n, so why make this 777?!

’ This reason 172 Wwnw> ROW (not to intermingle with them) in order so we should not follow in their ways or
intermarry with them, is valid whether the 2°m> are n1°3X *73 or nNxX 13, whether we are X0 n? wwn or not. The fact
that all 2°m> m12 are M71 will keep the two communities separate.

191 the reason for m712 0°M3 N2 is because 172 Wnk X7w what does it have to do with Xpw b w»n; it is not on
account of them seeing 07, so it is according to everyone, not only according to n"9!
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For the mw» states in the X9°0 that 2mM> ‘are J99¥> PARANT 25WH PRAVR,

because they are possible n171 v5p2’ -
- POD INNRMOY 291 PHmANn NX 179Y PONY PPN 0N

And the mw» concludes, ‘but we do not burn 72190 on account of them,
because their 8»W is doubtful’. This concludes the citation from the 7awn there.

— 3 999987 MIOPN N INPT YIYN
It seems that the expression of po02 JNRMIVY 191 refers also to the minor ni2
a°n>, which the 71wn was discussing that they (too) are M7 (only) because of a poo.

In summation; according to the 7I1w» in 7171 the 77°13 on @°N1> N2 (as one of the 727 1) was
because of 7171 po0; however according to others it was one of the 727 "> on account of WnY> ROV,

Mmoo anticipates a difficulty:
- VannY 019 Ma0m 9253 150 YN 209 a9 Conn NPT 8N

And regarding this which >''1 related there; ‘there was an occurrence in 71231°p
and they were ®21 the daughter before her mother’ -

mooIn replies:
- N N99YT DIPNT AN NN VINY YHNT DIVN INY

>3 did not bring this proof that it is a common minority, because >"7 is

concerned for the vy -
= W50 DIVN DI 2297 NNAYL XNT

For the reason jn0"v7 N173 2°N12 <132 according to °''1 is because of ¥, but not
because of a 7°R7 P90 -

" In our nrwn (on 2,%Y) it does not say 'poon' (just M7 9312).

12 innn refers to something one lies on (a bed); 1% is something which is above the person (a blanket). A 2t is Xnun
his NN (no matter how many layers) when he rests on it so it is an 78?107 2X (like the 27); however he is Xnvn the
11°9y when it rests on him to be a AR™WV? NWRA (only). They were TM3 by 2°m3 (who are not °X71 0°27) they their pnnn
becomes Xnv like the 21 5w 1%y (meaning their NN becomes a XYY PWR).

13 This means if 7m0 came in contact with 2°n13 or 2°M3 M2 (who are not Xnv °XT71) the 7m0 is PHON ¥MY, so we do
not burn it.

" If we are not AN A7 on account of the 0°n1> N11a because PHdA XMWY, this indicates that their XMWY is not
because of Wwnv> X7w (for what poo is there), rather their &m0 is because they are naX 73 and RV M? 11w 1 and we
are concerned that she may have seen 07. Therefore the X na states that the 71wn there (which is 2°m> M2 Xnvn
Poon) is (only) according to »" who is R w»n (and maintains 37 nAR >33 2°012).

1 x,25.

' In our text there it reads 212 P¥ (not 92ry).

7 A woman who gives birth to a daughter is Xmu for fourteen days before she can be 221. The baby daughter became a
771 (in the first few days) and they were 72w her after seven days, while her mother was still 77°% nxmw Xnw. This
would seem that > supports the view that 2°m> ni2 are Xnv because of the 771 concern, but not because of Wwnw> Xow.

'® It would seem that *"1 is following up on the reason why jn2> 7 M1 2>M2 Ma2 is because of the concern that she saw
a7, so "1 is relating this incident to show that it is not that uncommon for this to happen, 010 rejects this explanation.
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- NI NYIYT IND INT NONT S99 799 NYN

Rather >"1 brings proof that one may see 07 as a baby, for if it were not common -
- NDISDINY XIND 91115Y NIT 911050 DIVM DAIIDIIPN N1 1Y 1Y 19 A XY

We should not have been 2113 that the 2°n> N2 should be 27°n19%9Y% N7, on
account of ¥, in order it should not be a mockery and ridicule.

nooIn asks:
= 9297 117792 9NN 2299 1YY 29VUN 99N YIND ON)

And if you will say; how can »''9 consider n171 2°n1> N33 as one of the 937 ' -
— RUINY 9NN 29 YN DIPN Y93 97 INYA KM

For even without the 127 1"> we know that »''1 is always XwIp % @ so the nua
2°m> should have always be considered as n171, even before the 727 17"?!

Mo0IN answers:
- NN XIY R219 APIND MITT DIVN DD 19980 XONT MY v»

And one can say; that here (by 2°n1> n112) it was necessary to be 913 (and they
would not be Xnv on account of XY PwwIn alone), for it is like there is a 7PN

and a 27" that she did not see 07; the 7 that she did not see a7 is -
- 2aminn mming anng XY 99 DRSS DY NNONT

For presumably as she left the womb and entered into the world she did not see

07, so we set her on this 7?1717 that she did not see o7 -
- 201y 199 ¥I1INY APINY PR TINDY

And let the 219 support the 71211, so her vys» became flawed -
- 59049 17753 1759 19137 INY SN IN) 529 YN 71D KDY

And »''% would not be concerned for such a 11v°», unless they were 913 on it by
the 727 n'' -

1 Granted that the reason for this 77T is on account of ¥, however the 77T (to prevent this ¥1°v) was that the
2°n1> N2 are considered N171; how can they be considered N171 as babies, if babies are never N171. People would scoff
at this. Therefore >"9 brought this incident to show that it is not uncommon for babies to become N171. Therefore we
can declare them n171, in order 172 ynu*h RoW.

0 A minority of babies see 07, and the 2°nM> (who are n»X »3) do not consider them Xnv, therefore all a°n1> N1 are
71 oo, for perhaps they saw 07 (and we do not follow the 217 according to 1", but rather we are XY ™n? wwIn).

*! This presumption is axiomatically accepted.

22 When we are uncertain whether a certain even took place or not, we determine the situation before this doubt
arose, this is the 7P status, and we assume this 7pin status to be in effect until we know otherwise. Here too we
assume without doubt that when the baby was born she did not see a7. If we are uncertain whether or not she saw
afterward, we retain her npin status that she is 7770 until we know otherwise. The 1ipin tells us she is a 77w,

3 The majority of babies do not see o7. Both the 211 and the 7Pt inform us that she is not a 772,

X Ttisnota ‘regular’ w1y for which »n"1 is wwIn, but rather a weakened v¥n, for which even 1" is not wwn.

* See ‘Thinking it over’ # 1.
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= (x,0°p 97) N2 RINA P9 Y2 NINTI NVIVINT RVIWIN NYY NI4T
For this weakened vv°n is like a minority of a minority for which n"9 is not
wwin, as is evident in the beginning of the last P72 of nya> noon.*

mooIn asks:

= 9NN 927 DIVM 12 JY 19T (3,9 91 NIT NNIAY RNIDNT 73 PIDI 9INRT JNNIY 9NN ON)
And if you will say, according to the one who maintains in the second P95 of
"'y noon that they decreed on their daughters (of 0°731) because of ‘another

thing’;?” 3 5y 1 -

- B95ma ;9 1795932 $9T) 2NN 1NY 2WN INNN INMDIIYN N1 1Y 139N
Means that the 2721 n112 should be m7: from their cribs; why do we consider
them as two n1913; ‘their daughters’ (2°723) and 2°M> n13; it should be one 71°13?!

MooIN answers:
=910 03519 NTAYA SPITRT DIYN 1NN MN DIV 272192 191 INT 125987 9D YN

And one can say that they were both necessary, for if they were =112 by 2''%w we

may have assumed that because 1"V are greatly attached to 3''¥, so we are

concerned that being close with them may lead to 7"V -
- NY 05 Ha YaN

However 2°n12 n1i2 who are not that attached to 3"V, there is no 7713 on them, for even

if we mingle with them it will not come to 1"V -
:NY ©7199 HaN 02919 27291 HNIY? 533 291 999W) 199397 DIYN D93 193 IN)

And if they would decree by 23m> n113, [ may have thought it is because they are
more available and have a greater connection to the »X=w> than 2'"12p, so the
chances are greater that we would learn from them, but by 2'"15y (where there is
less co-mingling) they were not 1. Therefore there needed to be two M.

% The case in the mwn there (X,0°p) where a woman had no children and her husband had no brothers. However she
had a mother-in-law (nnn) in a distant country. Her husband died; the rule is this childless woman is allowed to
marry, and we are not concerned that perhaps her nan gave birth >"77722 to a son, who is now her 02°, and she cannot
marry unless this son is either 02»n her or give her 7¥°7n. The rule is she is permitted to marry even according to 1"
who is X n? wn. The reason is she is P 20> npina for up to now she had no brothers, and the 217 is also in her
favor, for even if her nnn became pregnant, in the majority of cases the child would not be a 127 (the PWw® mn2* MoK
is only if her husband has a brother), since there is an equal amount of 2737 and M2°?1, and a certain amount of
miscarriages, so 0°137 are generally a v, and there is also the 711, which makes the chances of a 751 a Xvwy™n
X0IM7, and even 1" is not RMIY T KW n? wwin. The same applies here where there is 7p1% X217 7IM0.

*7 This means 1"v. If they were to interact with 2°1237 N2 it may come to "y.

*% mooin learns that the 779°T on @°M> MI2 was so that 072 WHY 9w, which is the same reason as X"7 own. There
should have been one 11713, either on the 2™5¥ N2 or 2°mM> Mi2 and we would derive one from the other. See
‘Thinking it over # 2.

* The 0°m> observe some of the N1xx.
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Summary
The 77°13 that J00° Y7 1171 @°M3 N2 is because 172 WAL’ ROW.

Thinking it over

1. moon states that even according to »"7 the 2°M12 N2 would not be M7
TP MO™MYA, since PR 8211 M0, However they were 13 on them to be m71 as part
of the 727 1. Presumably the m1wn which states poon JnxmW *197 is referring to
the post 77°12 727 1" (since before that there was no m71). The question is,
according to this 71wn (which follows the view of n"9), why were they 713 on the
o°nd M13; if it was because of ¥1m°v, why is called poon MY, and if it i1s because
of mT71 poo, what changed to make them make this 77121

2. When nmooin asked that there should be only one 77712 (either on 37°N12 or N2
0°'nd),> was that according to the one who maintains n1™& 13 2°m> or according to
the one who maintains N%X >73 M3, or according to both?

30 See footnote # 25.
31 See mn K.
32 See footnote # 28.
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